Figure S2. A SGA vs AGA (R? = 0.989; Q2 = 0.619, 92% correctly classified samples, and p CV-ANOVA = 0.041), B LGA vs AGA (R? = 0.996; Q? = 0.988, 100% correctly
classified samples, and p CV-ANOVA = 2.57x10"%), C LGA vs SGA (R? = 0.990; Q? = 0.976, 100% correctly classified samples, and p CV-ANOVA = 9.20x10'3) represent the
OPLS-DA models built for LC-MS ESI (+). D SGA vs AGA (R? = 0.998; Q% = 0.951, 100% correctly classified samples, and p CV-ANOVA = 2.75x107), E LGA vs AGA (R? =
0.997; Q% = 0.987, 100% correctly classified samples, and p CV-ANOVA = 6.72x10'%), F LGA vs SGA (R? = 0.997; Q% = 0.989, 100% correctly classified samples, and p CV-
ANOVA = 1.82x107'8) represent the OPLS-DA models built for LC-MS ESI (-).
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